

Some Fourier Series - Identities

Edgar Valdebenito

May 30 , 2019

ABSTRACT

We give some Fourier Series - Identities

1. Introduction

Entry 1. Define a, b, c by

$$a = 2 - \sqrt{4 - \frac{2}{\sqrt{4 - \frac{2}{\sqrt{4 - \dots}}}}} \quad (1)$$

$$b = 2 - \left\{ \frac{1}{2} + \frac{1}{4} \left(\frac{1}{2} + \frac{1}{4} \left(\frac{1}{2} + \dots \right)^3 \right)^3 \right\} \quad (2)$$

$$c = 2 + \sqrt[3]{2 + 4\sqrt{2 + 4\sqrt[3]{2 + \dots}}} \quad (3)$$

then

$$a^3 - 6a^2 + 8a - 2 = 0 \quad (4)$$

$$b^3 - 6b^2 + 8b - 2 = 0 \quad (5)$$

$$c^3 - 6c^2 + 8c - 2 = 0 \quad (6)$$

Entry 2.

$$a = 2 - \frac{4}{\sqrt{3}} \cos \left(\frac{\pi}{6} + \frac{1}{3} \sin^{-1} \frac{3\sqrt{3}}{8} \right) \quad (7)$$

$$b = 2 - \frac{4}{\sqrt{3}} \sin \left(\frac{1}{3} \sin^{-1} \frac{3\sqrt{3}}{8} \right) \quad (8)$$

$$c = 2 - \frac{4}{\sqrt{3}} \cos \left(\frac{5\pi}{6} + \frac{1}{3} \sin^{-1} \frac{3\sqrt{3}}{8} \right) \quad (9)$$

Entry 3.

$$\pi = 3 \sin^{-1} \left(\frac{\sqrt{3}(2-a)}{4} \right) + \sin^{-1} \frac{3\sqrt{3}}{8} \quad (10)$$

$$\pi = 6 \sin^{-1} \left(\frac{\sqrt{3}(2-b)}{4} \right) + 2 \sin^{-1} \frac{\sqrt{37}}{8} \quad (11)$$

$$\pi = 3 \sin^{-1} \left(\frac{\sqrt{3}(c-2)}{4} \right) - \sin^{-1} \frac{3\sqrt{3}}{8} \quad (12)$$

2. Fourier Series - Identities

Entry 4.

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi a)}{n^2} = \sum_{n=1}^{\infty} \frac{\sin(n\pi a)}{n^3} \quad (13)$$

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi b)}{n^2} = \sum_{n=1}^{\infty} \frac{\sin(n\pi b)}{n^3} \quad (14)$$

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi c)}{n^2} = \left(\frac{120}{299} c^2 - \frac{12c}{13} - \frac{121}{299} \right) \sum_{n=1}^{\infty} \frac{\sin(n\pi c)}{n^3} \quad (15)$$

Entry 5.

$$\begin{aligned} \pi \sum_{n=1}^{\infty} \frac{2n+1}{n^2(n+1)^2} \sin\left(\frac{n\pi a}{2}\right) \cos\left(\frac{(n+1)\pi a}{2}\right) &= \\ &= \sum_{n=1}^{\infty} \frac{3n^2+3n+1}{n^3(n+1)^3} \sin\left(\frac{n\pi a}{2}\right) \sin\left(\frac{(n+1)\pi a}{2}\right) \end{aligned} \quad (16)$$

$$\begin{aligned} \pi \sum_{n=1}^{\infty} \frac{2n+1}{n^2(n+1)^2} \sin\left(\frac{n\pi b}{2}\right) \cos\left(\frac{(n+1)\pi b}{2}\right) &= \\ &= \sum_{n=1}^{\infty} \frac{3n^2+3n+1}{n^3(n+1)^3} \sin\left(\frac{n\pi b}{2}\right) \sin\left(\frac{(n+1)\pi b}{2}\right) \end{aligned} \quad (17)$$

Entry 6.

$$\pi \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \cos\left(\frac{n\pi c}{2}\right) \cos\left(\frac{n\pi(a-b)}{2}\right) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^3} \sin\left(\frac{n\pi c}{2}\right) \cos\left(\frac{n\pi(a-b)}{2}\right) \quad (18)$$

$$\pi \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^2} \sin\left(\frac{n\pi c}{2}\right) \sin\left(\frac{n\pi(b-a)}{2}\right) = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^3} \cos\left(\frac{n\pi c}{2}\right) \sin\left(\frac{n\pi(a-b)}{2}\right) \quad (19)$$

Entry 7.

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi(a+c))}{n^2} = \sum_{n=1}^{\infty} \frac{\sin(n\pi b)}{n^3} \quad (20)$$

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi(b+c))}{n^2} = \sum_{n=1}^{\infty} \frac{\sin(n\pi a)}{n^3} \quad (21)$$

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi b)}{n^2} = -\sum_{n=1}^{\infty} \frac{\sin(n\pi(a+c))}{n^3} \quad (22)$$

$$\pi \sum_{n=1}^{\infty} \frac{\cos(n\pi a)}{n^2} = -\sum_{n=1}^{\infty} \frac{\sin(n\pi(b+c))}{n^3} \quad (23)$$

References

1. Apostol, T.: *Mathematical Analysis*. Addison-Wesley, Reading, Mass., 1957.
2. Arndt, J., and Haenel, C.: *π unleashed*. Springer-Verlag, 2001.
3. Olver, Frank W.J., et al. : *NIST Handbook of Mathematical Functions*. Cambridge University Press, 2010.
4. Ramanujan, S.: *Notebooks*. Vols. 1,2, Tata Institute of Fundamental Research, Bombay , 1957.
5. Spivak, M.: *Calculus*. 2nd ed., Publish or Perish, 1980.